EARAROBEEIERT — 2 N— IBISH —F

2013537168 (L) 1EIBR#7H

AR BRI S (xwlw | lmEmml - (w6 o 8
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
RSN B ifEE 99, _3-3— . — HwHEZ (EFXR)
10l 9 XA F ' 59.0‘(1_ 3(2_2)4 §393 136 3 (5_120) N F (k%)
¥+ TT7oR70—7T BNATL—FN1F BRI
o [© AR :22. S48 . — 1EEEH (FER
2 6 Yy R7T— K 4 4 A (32212/28) 4-4-3-3 | 13.7 6 (4_542) i
:77)—F B:FU-—F—Xh ZRBEANS
= 4 o5 | AR 3:23.2 7-6-6-6 | 13.7| — 2 510 |RBBIER (RR)
3 4| TTITLRTA 60.0 2 1/2) -2) ;@HE
R:TUHA XTI K BT EUDHIL aEF JE—
<. = o #—5 : ~11-8- — WkEE (ER)
4 g ®@I—vrFak—> 6 R 3(/33)2 11-11-8-8 | 13.7 11 (4_8;) A(HSE%;.E_E
A:Dynaformer B:/N—F> MAH—IL Winchester Farm
o ErEE 5 | FRfEA 3:23.3 2-2-1-1 [ 13.7| — 10 | 452 |BEFEH (E#)
5 3/ va—7 ZFX7 # 580 (1/2) (-2) T:EEH:@-
RiZRTT4RF— BYATIR JIE sk
- . wam 4. 8-6- 7| - REEE (ER)
6 o | PERA VY 1ES #H 5 oE 3(254)1 9-8-6-7 | 13.7 8 (4—7:8 igﬁﬁu—
LN=VI54 B:/—HFoT) ot J—HrTp—L
S . it 5 | HEHED 3:24.6 5-5-5-5 |13.8| — 1 486 | IEILIBHE (RR)
7 5| 7LIN=J TR g 60.0 3 o) | ) 9T282T9 -4
Z:vA7x BUIXZ2r -V Eldicked
N D B4 | NEFHEX 3:24.8 12-12-10-8 | 13.8 | — | 14 | 444 |BERX (EKH)
8l7l11| 73747 57.0 ) (-6) | BT
Ry IAEZX B:ITILT) e ]
N REREX :25. —6-9- . — ERAEEARL (R
9 10/ Fva—%>v o4 R 3(255)6 5-6-9-10 | 13.8 9 :130) P i
R:xA1=Gr—Z B:arIuTIHILR +H ®EF
S A 2 5 | BEE 3:26.3 1-1-2-2 [13.9| — 12 | 462 |ISILtEH (ER)
10[1]1|7L/8=~Z b 7| &0 <4> ) | ) TR Tr—A
XL JARZN B:T7144X-5 ] IS 450355
— = en e £ 4 | B 3:29.0 13-13-13-13| 14.1 | — 7| 462 |AEBE (RR)
M|\5|7|717771N>T7 “7 ] 5o (#1%) o | @ FrourTr—A
LYK YTYRIR BFA4TFI/ET J—Hr T L
S AN A 4 o6 | PRRFZ 3:29.2 8-8-11-12 | 14.1| — 4 472 | EIEEAE (BR)
12|8 14| N~ REFH 60.0 (1 1/) 4) 2E-%
LHRA Y E— BF—< ity 1EE
. B NS IRBE :29. -10-11- . — LHEBR (ER)
1317112 AL I KF7w R 4 4 R 3(239)7 9-10-11-11 | 14.1 5 ;1232) Ems%
L:T7NHEy b B:ACT—KS Rl EESN e ]
0 HRiER :33. -14-14- . — SR (ER)
14/ 8113 TyISLA Y2y 4 4 il (:;:ifshg) 14-14-14-14| 14.3 13 ?g? PRt
:v—0 B:oya-Ji-— BREFS
@ 21 L
£y 52.8-40.3
ngraAq L
® I—F—@EBIERL
|S=7r= 1,3=9,6(5,10)4,14(12,2)8-11,7=13
20—4— 1,3=9,6,5(4,10) (14,2)12,8-11-7=13
Y2=7r= (1,%3)=(9,6)-5(4,2)-8,10-11=(14,12)=7=13
41—F— 3-1(9,6)5,4-2(8,11)=10=12=14,7=13
[ RN
B Op 9 470M 794K 6-9 830 & 4-6 490 &R 4-6-9 3,780
# B 9 160 4-9 480 B E 6-9 2,400 EE 9-6-4 21,260/
6 280M 4-6 1,300M B H 9-6 3,900M
4 190M9

ABICOVWTRDTEEERROODE. TR LIV,




